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2. A A 9,917 9,917 0
1.8 R 4=9) 9,856 9,856 0
LAy 9,856 9,856 0
1.32H 9,856 9,856 0
1.9 8,910 8,910 0
2.9 2] 946 946 0
2. 394855 61 61 0
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37184 uKEF 51,079 46,139 4,940
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2. 159 n 1,000 1,000 0
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2. 0l8 -3 H 1,829 1,829 0
3 HIEF T 1,740 1,740 0
2. 85 FHEX Y 4,320 4,320 0
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5. 25 L #}-2Hs 5,955 4,000 1,955
1.3 A9 5,955 4,000 1,955
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}f&@ A ASE Y 1 62,0001 62,000
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1. A1 Adn) 40,000 40,000 0
2. 9T 23,196 23,196 0
oal IurE-g 91,110 91,269 -159
1.3t &9 28,401 29,550 -1,149
15X 71289 28,401 29,550 -1,149
1. 0329 11,931 11,980 -49
1. ek} 5200 4,500 4,500 0
2. 4N GG H 3,000 3,000 0
3. HET ] 4,431 4,480 -49 | 3] o] g-H o] 1 =-49,0009 1L -49,000
2. 923 16,070 17,170|  -1,100
1. dRk=8H 3,290 3,990 =700 ZHE E G : =-500,0009*13L -500,000
DHFEFEZ 0 =-200,0009) #1300 -200, 000
2. 7EtE LT 685 635 0
3.99H] 8,700 8,700 0
4. 22 B2 ) 208 608 -400 | B2 A 1] =-200,0009 *13L -200, 000
jﬂl’élﬂ%&,fﬁifﬂﬂ%ﬂl : =-200,000¢) 1 900,000
5. 18 $-odu 0 0 0
6. ARFY -7 300 300 0
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L. St Al 2 n] A 60,879 59,779 1,100
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1. ¢n)n] 1,000 1,000 0
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